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1. The comptroller and auditor general of India is _
(A) Venkatesh Mohan (B) Anita Pattanayak
(C)  Vinod Rai : " Rajiv Mehrishi

@p‘é,]u_lrreﬁlem SATEMRISS SDOENLDE HETESTIIGUTETT
Q) GeumsGLey Cuomse (B) wafllgm vl prws
(C)  ACeanms gmil (D)  gredeu Gwanfad)

2. The head quarter of UNICEF 1is
M New York (B) Vienna
(C) Geneva (D) India

UNICEF -&r genevenowisid

A) By wrrs ' (B) eNwimesamm
(C) Qaefleun ' D) @ndwur

3. Which of the following released “Integrated Quarter Master Package” (IQMP) software
application? '

(A)  Indian Air force

\M Indian Army

(C) Indian Naval
(D)  Indian Coast Guard

“Integrated Quarter Master Package” (IQMP) eandlenm Guwerummer LwemUm iy ene
SpsarLeunmier eTena @euatluil(Hererg?

(A)  @bHuw eforamiueL

(B) Gsdu rremeud

©  @pu s pue

(D) @Bdw s _Gorr smeue Ll

B 3 : - CUGS/19
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4. The world's longest Rail Tunnel is opened by which country?
(A) England ' (B) Spinland
(C)  Ireland \9/ Switzerland

2 lGaCuw Herwmen g Tulled LTns 6ThHs gﬁLaoréb SeUSHILILL g7

(A) @ ndorbg . ' (B) evlereomhg)
C)  swrerbg _ (D)  evellsrennba
5. The joint military exercise “Al Nagah—II” held between which two countries?

(A) India and Pakistan
(B) - India and Afghanistan

@ India and Oman

(D)  India and Dubhai

“Al Nagah-II" erendlenmm sl () rrameuss Lulnd erbs @@IEWG\&@TI‘F@O Cunbsmareriii’ L g)?
(A) (@ﬁ‘é,]u_lrr WHOID Lrdlevgme ‘ .
B)  @pslur womib plisTalavsmer

©  @pSurwpon goar

D) @pSuim wippi> gum

6. Joint Working Group (JWG) on fisheries set-up between which two countries?
(A)  Srilanka and China

\M India and Srilanka

(C) India and Pakistan
(D) India and Maldives

eTHE @) BrH&Epsdlean._Gu Wer #bLBSHLILIC L sﬁsuaarrgm&@a;asrrm somullamr epr&dln (@ emL (JWG)
FHUBSSLLILLGI? T

(A Q@emes wHmb Ferr

B @pdurwppid Qs
©)  @bdun wpmd urdevgren
(D) @sdwur womibd wrwsse

CUGS/19 | 4 | :



Which bank gets RBI nod to open offices in Kuwait and Singapore in the year 2018
United Bdnk of India (B) Axis Bank

@/ Federal Bank : (D) UCO Bank

e eumdl 2018-b e @emeud wHmD Smislinfld damasamard Agmiris Meie eumdlull b
2A@insl Gups)?

(&) weerGLL Cuis < @pdur - (B)  ysedlay cumd)

(C) Quirge eurdl (D) wlasmeums

When the dynamic pa\ment SY'S'EE‘HI was lmplemented in Rajathani, Thurantho and
Shatabdi E‘{presbm’ :

(A)  August 2016
M September 2016

(C)- October 2016

(D) November 2016

pregnefl,  grnCsr  oopmid  Ferid  @ridsaiia  mLeanfls slLar  (peopm  eUCUTWS
SpEILOESILLL 87 |

(A) s 2016

(B) Qi bur 2016

() <1&CLmur 2016

(D)  meubui 2016

The first digitally operated and a programmable industrial robot is

M Unimate : (B) MaxII

(C) = Elmer ' (D) Electro

(pse el Quiss plyarssliuL dgmblagimn @wbdlr werfl et
(A) (Unimate) - wafl Gl (B) Max II - Gwaen 11
(C) Elmer - e@@wi -~ . (D) Electro - srevé Gy

5 ‘ - CUGS/19
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10. Holography‘can be used in the formation of

,‘/ three dimensional images

(B) two dimensi(')nal images
(C)  one dimensional images

(D) half dimensional images

CanrGardlymdl @) sener g@mﬂéﬁ pweru (h&lemmg)
(A pluforest Q_Lburéja;d'r
B) @ uflwrer QLburéJaaeiT
(©) @@ uflwrenr Glbukiger

D)  =eny uflwomrer Gbukiger

11. Calculate the inter planer Spacing for a (3 2 1)Aplane' in a simple cubic whose léttice o

constant is 4.2x10 °m .

Ml.ui

B) 21A
(€ 3.1A
D) 4.1A

4.2x10° 8 saflaCamenas el WAL Qameer e aeflenowman sar sginsdlen (3 2 1)

sasHnE OS50S &M ga‘rrfﬂa;@é;@ QlenL-Cw 2 émer @enLGeuaflanws semradl(H.

(A) 114 .
B) 214
) 3.1A
D) 414

CUGS/19 ' 6



12. On which day Jawaherlal Nehru hoisted the tricolour of Indian Independence on the banks -
of the River Ravi at Lahore?

q/ 1 January 1930

(B): 26 January 1931
(C) 15 August 1947

(D) 26 January 1950

seuamierer Chmm erhs mrefler grall pdlsengullayerer wrsmfe GRS s5bSlT epeuremnTs Q&BI‘TLq_GU)’Lu
gblemi? |

&) 1 meneul 1930

(B) 26 gawau 1931

(C) 15 sysevr. 1947

(D) 26 gemeufl 1950

13. Who was the Guru of Vinayak 'Damo'dar Savarkar?

\M Bala Gangadhar Tilak

(B)  Gopal Krishna Gokhale
(C)  Chapekar Bandhu

(D)  Bipin Chandra Pal

afenrwis sTCLIST Feundamiler @@ wmr? -
(A) LITe) SRISTST st
(B)Y  Carure Smegenr CanaCa

(C)  srfsri Lps

(D)  GdGen spdly Lme

B ' | | 7 | CUGS/19
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14. Which act empowered the constituent Assembly a fully ‘Sovereign body’?
(A) Govex nment of India Ac‘t of 1919 '

M Indmn Independence Act of 191(
(C) . Government of India Act of 1935
(D)  Indian Councils Act of 1909

DATEFEOLIL| SIENGL (LP(LPEnLOWITET GlanDWITERTanLD eUMib&g) 6TeiDy 6The &L L LD FamlLig)
(A) 1919 b yeiriqan QHS L oTHES LD

(B) 1947 ib e e @B W ssbIrE s Lib

(C) 1935 opib yeiniq 6 @BAIL DT&E 5L

(D) 1909 wypib sy erigen @i saemle s Lb

15. Which of the following are the federal features of the Indian (‘onstltutlonr?
1. Rigid Constitution

2. Bicameral Legislature
3. Office of the CAG
4.

Collective responsibility

\Mland2

1, 2and 4 ' !
(©) 1,2, 3and4
(D) 1, 2 and 3

&G Qamdsslul (Haraemasefldy craneusar @Eglu_l SiTflueambly salLnl & Gerdeunsemer

Csmar (Hemeng

1. GBSpT Semaniou|arer yrleenoliy

21 FFTEne FlLL LDGITMLD

3. Bbdu sanaeing samast DML sallEmas s Semaauir

4. gal_(H Gummiliy
(A 1 wbopmb 2

B) 1,2 wpgb4

(C) 1,2, 3 womb 4
M) 1, 2wpmn 3

CUGS/19 | 8 | \ B




16.

- 17,

In 1993 the seventy fourth Amendment Act says Municipalities handled

subjects.

B)

(©)
(D)

g).ssgm'_-é}asm 1993 & erpusd BremsTd HréweenioliLy &LL@Q@[&)(@S{&)'@@T u_mr.

20
22

24

G et senaT (uswﬂssé’rr) BenL(perpLUBhEs Gma&w@u_b._

(A)

(B |
()

D)

18

20
22
24

Which article of the constitution o'f India deals with the Administraﬁve tribunals?

@)

(B)
N4

D)

Article 322
Article 323
Article 323-A

Article '324-B

@pdu sirdlueeolnder ahg ¢l Hireurs Sruumubd uHbl samdng?

(A
(B)
(C)
(D)

aflé 322
04 323
98 323-A

o948 324-B

9 > CUGS/M9
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18. Which of the following state has a separate constitution of its own?

(A)  Karnataka yJammu and Kashmir
(C)  Arunachal Pradesh (D) Sikkim

Ep&aenTaunmicy g,mﬂ <SirlweenwlGeanen GasmamrL ombled erg?

(A srETLST. (B) @b sreglt
©) @memmésals QrCssid D) Hséo
19. How many recognised pélitical parties were in India during 1952 elections?
Y 4 B) 12

K- ETENn (D) 16

1952-b gaw(® Gurgis Csiswsailer Curg @pHureded assmen emEsfssiiul L sl fsar

B phHsen?
(A) 4 B) 12
©) 14 D) 16

20. Eutrophication leads to the death of fish due to
(A)  Increased O: content |
(B) Increased algae number

(C)  Decreased algae number

; MDecreased O content

L CrrliCaageaflanmd Baflen @muiLse sryammons QmLiLg)
(A)  pbedigen sietey iflswneugme

(B) UT&l&eT erentanfléens dswmeugmen

(C) unfser eramaniGanas @émg)eug,rréu

(D) %é;@r&g@h <S|ETE (&ENMEUSTE

CUGS/19 - 10 ST p



21. = The formula of triple supe'f phosphate is

22.

(A)

®)

@)

Ca(H,PO,), -H,0

Ca,(PO,),

| M CaH4(PO4)2.

K,SO,.2.MgSO,

(pLbenLo @UUT LmevGUL g6 eumiuium(b

A)

. (B)
(©)

(D)

Ca(H,PO,), H,0

Ca,(PO,),
CaH,(PO,),

K,80,.2.MgSO,

Which of the following is a base ‘according__.t'o' Usanovich concept?

(A) 805 °

®) Clb
M Na,O
Dy F Ve(CN)z

Sipssaraubnier ergl wsCarails Qazrrei'rsma;uﬁlﬁhu@_ STLOMED?

(A) SO
B) Cl
(C) Na,O

(D)  Fe(CN):2

11

CUGS/N9
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23.
1{ 2
10080 N\ 6
5040 24
) 1120
(A) 560 ' xa/’?zo
(C) 880 | (D) 960
12
10080 6
5040 24
? | 120
(A) 560 ‘ \@Ef"720
(Cy 880 (D) 960

24 Sara baked cakes for the school festival. The cost of one cake was Rs. 55. She sold 25 cakes
and made a profit of Rs. 11 on each cake. Find the selling price of the cakes

(A)  Rs. 1,400 (B) Rs. 1,375
Rs. 1,650 (D) Rs. 1,550
@@ ueatdllen efprelparss sy, Cad Clewiger. om Casflar si_ssalloma m. 55 @b, e
@euGleunm Cssesyd, m. 11 erusdne eIpdordr. 25 Casmaamer alndlHHsT, eNHUee

eleneuen L & e,

(A) . 1,400 (B) . 1,375
(C) ep. 1,650 (D) ¢m. 1,550
925, In a simultaneous thi_"ow of two dice, what is the probability of getting a total of 77

1/6 : B) 1/4

(C) 2/3 , (D) 3/4

Qm usmL s @Cr swwgde efsiuBb QU sDs0 7 el éa BlEDSHey Wng?

(A) 1/6 _ (B 1/4 '

(C) 2/3 ‘ _ (D) 3/4

CUGS/19 ‘ 12 : B



26.

28.

 Find the compound interest on Rs. 16,000 at 20% per annum for 9 months compounded -

quarterly
(A)  Rs. 18,522 (B) Rs. 17,640
(©)  Rs. 16,800 W Rs. 2,522

L sl ey 20% <8 @ méEnCuns wreurraiﬂ@é;@ aully sarsSH_uuBdng eraflad
epimls 16,0008 9 wnghiseEnss el &Eb sal () eulig eTeucuera]?

(A) . 18,522 (B) em. 17,640
(C)  ¢m. 16,800 D) em. 2,522

Find the missing alphabets in the series :
ALPVAE,?
A E ‘ (B) F

© G | W H

auflensulier el UL eT(PSHNSE SIS ©

ALPV AE,? 7
&) E ' | B) F
© G M) H

If Pis a prime number, then the L.C.M. of Pand P+ 11is

@ P+l ® L&+

2
© (P+1? W PP+D)

P eranug @ ust araw arafled P uopmin P+ 1 epflw erama@péaman 8.8 .10. (Iem) ereean?

@) P+l (B) fy
©  (P+1)? ®) PP+1)
13 . CUGS/9
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29.

30.

31.

32.

STUDENT : MARKS : : .
(A) Teacher : Class (B) Pen:Nib
(C)  Scholar : Book ‘ W Waiter : Tip

wrenTeue : LHLIG LT :

(A) Afwum: eugliuenn (B) CGuenr: qwpenen
(G QLTMUFSWITETT | LSHED ' ' (D) sraHmuueur : 14 liev

A bicycle marked at Rs. 1,500 is sold to a 1,350. What is the percentage of discount?
(A)  20% | B) 15%
10% ; D) 7%

@ WFeuaiyuien eflene 1,500 @Qnuﬁ arenm GO&sLILL(DeTerg. @samen eruml 13508@ elhmmed
SET(EHLIG FHEIHID eTEmEN?

(A  20% B) 15%

(C)_ 10% D) %

A sum of money triples itself at 8% simple interest per annum over a certain time. Then the
number of years is '

A 30 (B) 15

W 2 | (D) 10

@M GHUE L sisoreang) 8% eul g aizsHla apenm wLksTs THSSSSTETERD 2T H&eT
(A 30 | B) 15
(C) 25 (D) 10

If the volumes of two cones are in the ratio 1:4 and their diameters are in the ratio 4:5 then
the ratio of their heights is

Ay 1:5 ' (B) 5:4

© 5:16 ' #2564

@ sabysaflen sear sjeteysafien g 1 : 4 whmbd eupdlar el L msefler ellsn 4 : 5 arafic
sicupdler 2 wirisafler eNlgid eTemen? ' '

A) 1:5 . B) 5:4

(C) 5:16 (D) 25:64

CUGS/19 14 - | B



33.

34.

35.

(a-bf +(b-cf +(c-af’
Q(G—b) (b-c)(c-a)

A 1 | ' \KUS

© 1/9 ' D) 0

?

(a—b)3J'r(b—c)'c}+(c—o',)3

T e ekl
(A) 1 - (B) 1/3

© 1/9 D) 0

The radius and length -of arc of a sector are 10 cm and 15 cm respectively. Find its perimeter
(A) 15cm

\M 35 cm

(C) 25cm
D)y 30 cm

@ el LGsmenl) LgHulen aflevedlar Ferd 15 Qa5 wpmbd b 10 Qa8 eraféd @igen anpeTanais

HITCHTS

(A) 15 Qs.8
(B) 35Qs.8
(C) 25Qs.8
(D) 30Qsd8

Find the total amount, if 12% of it is T 1080
(A) 28,000 Rs. ' 9,000 Rs.
(C) 18,000 Rs. (D) 10,800 Rs.

@ Qamensuien 12% eranuig) enumis 1080 erafle) oi5GgTansEmLIS STamms
(A) 28,000 grumis (B)  9.000 grimis
(C) 18,000 gyumis | (D) 10,800 emuimu]

15 CUGS/19
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36. Which of the following materials was méinly used in the manufacture of Indus seals?
(A) - Limestone (B) Terracotta :
©) Silver : Steatite
ECp Gar@ssiul (herer ehs Gumplsaiie &bg Eu_a@a,uéﬂ brsts  (psSeogser swuTiés
vweTU (S L a? :

(A)  S@TERTTIDL| SHSET (B) &L wesr
(C) Geueredl ' (D) Quer speer

37." Pick out the two books written by vishakadatta
I.  Kavya Dharsha
II. Madrarakshasha |

" III.  Kundamala

: Devi Chandraguptam
\M IT and IV (B) IandII
(C) IlandIV (D) II and III
Geneu(peuameupmIeT NETESSSTTED eT(PSLILIL L @)TaRT(H BredseT craneu?
L sraflw gflgand |
I1. PST JTEFELD
III. @Bs wrene
IV.  Ggellengly GLisn
A 1T womn IV - B) Iwpmwll
© Mlicpyd IV e ® ©) 11 wimis II
' 38. Who was the author of “Nyaya darsana”?

W Gautam rishi | (B) Kanada rishi
(C)y Kapila : (D) Patanjali
"EE\U;IWUJ sfFand” eremm HIene eT(LPHIWIGUIT wIm?

(A Qaserswd Madl : (B) seaean MNal
((:,‘) FGlavim : (D)  ugepsad
CUGS/19 ' 16



39.

40.

41.

Which was the famous festival ih the Vijayanagar Empire?
. (A) Mahasivaratri
W Mahanavami - |

(C) Dhasara

D) | Deepavali

zgupst Curde oifls psduggenn Qupimss Hralpn ag?
@A) wapr Aaugsd |
(B)  wamm BeuLdl

(C)  sewgm |

D) Sureud

In which year the Deccan Edu‘c'ation Society was founded?
(A) 1856 |
(B) 1874

sEsTE S06l SUPSTLID eThS e ([H Hmeuiugi?
(A) 1856

(B) 1874
(C) 1882
(D) 1884

What percentage of salt is found in the river water?
(A) Only 4% (B) Only 10%
(©)  Only 5% | 27 Only 2%

ophm Bl sramliuLsamigu 2 Lildr 568 A50 aramen?
(A) 4% bl G (B) 10% wl G

(C) 5% i @b | (D) 2% ol G

17
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42, Which of the following are the major source of marine deposits?
(A) Terrigenous sources (B) Voleanic eruptions
(C)  Marine plants and animals MAH of these

SDESRTLCUHMIET cTenau HLcvly. Ll 6y&afled (1pgenaniowmeanena?

(A Quigelwen euetiigar (B) erflene Qeugss Qurml_sar
€) &L greur wHmD edeidarmisar (D)  Cupamdu siemarssd

43. Which of the following is a coral Island?
(A) Maldives | (B) Mumbai
(C)  Andaman & Nicobar Makshadweep

Spssam_cupmer ersSey LeuarsSe) aany e pdsILEHeDE)?

(A)  wrewsSe, B)  wweu

(C)  <sipgwrer wHmb HEGaTum (D) Qe ssSesen
44, The average time interval in between two successive high tides is?

(A) 6 hrs 13 mts 12 hrs 26 mts

(C) 24 hrs 50 mts (D) 18 hrs 39 mts

QAsri 2 s, Bs psmsEnsda iUl L syrefl Grr @enQeuaf

(A 6 wenfl 13 HiALB - (B) 12 wenfl 26 HlBl_b

(®)) 24 wewfl 50 Bl b (D) 18 wenfl 39 HAL K
45. The presence of abnormal amount of sugar in urine referred as

(A)  Polyuria (B) Nocturia

© Hyperglycemia \M Glycosuria

Snibresdd oiflsorear oiara sisse sraiiL@eg)
(A) umredlyy,fluim " (B) Bl wpfluim
(C)  mantuidlenerdSwm (D)  fenenaCamevy,Mwim

CUGS/19 18



46.

48.

Who is the chairman of NITI Aayog?

(A) V.K. Saraswat \M Narendra Modi
(C)  Arvind Panagariya _ (D) Bibek Debroy
Bl o Cuimslen Seneveu wimi? 7

(A) V.K greveus ®B) ;r;@r;gbg]l;r Cuomg

(©)  omelips uersmilum (D) WGCus Quiigmi

After India’s independence as a part of land reforms the actual abolition of intermediaries
started with enactment of legislation in

(A) Assam (B) Bengal

(C) Gujarat | , y Madras

s5687 @hHwreidr Hasfidrss By bmasena @b uESHLTS, QL _SST&TEMmET @n@uugrj}asrrsm
s LD pgen (psadla CarslssiulL gl
(A) e (B) Qumsme

©) oGy (D) Qacrenan

The main problem of India’s heavy population pressure is due to
(A) Government welfare schemes conducive for increasing birth rates

(B)  People’s increased standard of fivipg due to increase their income purchasing power
level will increase birth rate h

M High level of birth rate coupled with falling death rate

(D)  Failure of the governments population control measures

@pdwrellan ifls wesar AsTams SiLSHéarean Wp&EW STremTiD?

(A)  erfapes HLmser Aoy @5155‘1;_5 SFsN DG FTSSOTS 2 GTETS)

(B) wssaflan SPsNGHa MDPEH®S SHTD, GQIHIDIGID  EUTEIGD g&d Gply elflzsams
VAL TG '

©) ofsfsdan Gouy fsss e Gopdeamn @iy &z

(D)  oirfen wéser AsTens s HULITL(H BL GG EOSHET Caméve

19 : CUGS/19
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49.  The International Day of Peace Day is observed around the world each year on

(A)  September 20

September 23

\M September 21

(D) September 22

2 S (WPPEFID Sieniogl Haid genL_191g &@h Brer eruGuimg ?
l (A) Qellbur 20

(B) QeuLwbur23d

(C)  Qelibur?2l

D)  Qeiibui 22

50. Mervyn Rose, who passed away on July 23, 2017, was associated with which sport?

Football

\M Tennis

(C) Basketball

(D) Baseball

@Yane 23, 2017 ey sTevLmEN Qmﬁéﬁléﬂérjn@b THS Qﬁ]GmﬂTU_ll’!‘i._;lq_ﬂ')@ Asmmyen L wieum
(A) - &TeLbS)
B) GArenafen

| ©) emaLupg

D)  Guev ks

CUGS/19 20



51. Which court declared “Right to privacy on Fundamental Right ”?
(A)  High Court of Allahabad |
(B) Madras High Court
(®) High Court of Jammu and Kashmir

M Supreme Courlt of India

“seaflano 2_Menwo erauigy g liLieni o Menw’ erar eThs ‘r_Eg‘;]LDGisTg)Lb 3|l E55)?
A) sesrurs 2 wurbdoermid

(B) Qearenen &'u_;frﬁﬁmmmm

(C)  gwesmeylSi 2wt wermbd

D) @bdw o sebdoaid

‘52, Which country has declared sugarcane juice as its national drink?
(A) Germany
‘(B) Srilanka

N2 Pakisthan

(D) Bhutan

smLarheny Cafluiunerons siMeSggierer b oTg)? |
(A QuiGuwaf |

(B) @éuriumas

©) urdlevgmes

D)  yi e

53. Which country of the following is not the member of SAARC?
(A) Bangaladesh ' (B) Bhutan

\V China (D) India

WYemeu(meusmeummieT ehg B[R Ggnarslu Brhsetien Armhdwis &LLG&JLDLHEH@ 2 mitnlent @eene
(A)  eurusmer Gssid 7 _ B) ylimer
©C) Fer ' D) @pHwur

8 | 21 CUGS/19
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54. Which force to use “Invisible laser wall Karach” to secure border of India?
(A) RPF (B) CRPF '

W7’ BSF (D) CISF

g smeud uemLwreng Invisible laser wall Karach” erenuensls wwenu(psd erdvencenwis

asradlenmg)?
(A)  RPF | - (B) CRPF
(C) BSF (D) CISF

55. Which State Govt. launched the “Scooty for college Girls scheme” in 2018 by the PM of
India? ;

(A)  Assam .
\M Jammu and Kashmir

(C)  Uttar Pradesh

(D) Madhya Pradesh

“sognfl wrareilsEpsarar cusal iy S D" eThg wrhle jgFme 20186 geumasul L g?
7 (A =evaumd

(B) s wdmbd srepsi

(C) 258n0 ArCseb .

D)  wasHwuL GrCssid i '

56. Which state restores special family pension for Widows of Govt. employees killed by

terrorists?
Punjab (B) Haryana
(©) Jarkhand - (D) Bihar

Sellreurdlaammed L@EOsT@me Gaiwliul s caflurselar weaeloNTHEESEE ST
“eligameusensstar dpliy GHLU Puapdub” aaflam HlLb ehs wrHle  SFerd Bt

SleusSUILIL L §I17 -
(A ugperd _ B)  enmfwmrerr
(C) arigeamr (D) Ssrr

CUGS/19 22 | B



57.

a8.

59.

60.

The first medicine developed by US for nerve injury using biodegradable wireless device is
(A)  bio-mechanical medicine (B) bio-technical medicine

bio-electronic medicine ‘ (D) none of the above

w&EGL sblullder grseand Garem () oGwhasT o (Heursdluyerer B FbUnBS eNwrd&sTer wmHba)
A) 29w QuibSredui LD(BHS) (B)  2u9flw dsmpler mIL U @HHES)
©)  2ulfw Berangmedwid wmbS | D) @eupble ergiaydlaanc

A new frontier of drug design employing small stretches of complementary DNA and RNA is
(A)  pencillin M oligonucleotides
(C) ampicillin _ (D) ciprofloxacin

q..6TEN.6] WHMID Y i.crem.ey elen Hdlw Ber Hlyiiysener LweaTLBHSE WHHS UG eUMLEEGHD LHw
GTEVENEY

A) Quesrflalen (B) =0GarhlusadlGuirenL e

(C) oy 9&edlen D) AuCym.enm&Ganv e

The first solar boat designed in India was

(A)  Sonnet \ﬁ(Surya
. (D)

.(C) Gagan Aries
@ndlurelen (psa CameomT LIL (G
(A) Camenr_ ) B) @mwr
(C) - ssen (D) <=y fev

The maximum efficiency of a half wave rectifier is
(A) 81.2% B) 41.6%

y 10.6% . M) 42.6%

(T AenT ene Hmsdludlen oHasul L Lwanmy Snerrerg
(A  81.2% : (B) 41.6%
(C) 40.6% (D) 42.6%

23 | CUGS/19
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61. 1 amu 1s equivalent to
(A) 1eV : (B) 931eV
(C) 931 KeV M 931 MeV

1 amu ererigy) @sH @& Foreg)
(A  1leV (B) 93leV
(C) 931 KeV (D) 931 MeV

62. Who founded “Servants of Indian Society”?
(A) Bala Gangadhar Tilak
(B)  Motilal Nehru

W Gopala Krishna Gokhale

(DY Lala Lajpat Rai

“@idw Caeusiser shssms ehLBSS weuT wri?
(A) UmeY SRISTST $levsT
(B) Curdleord Grm
‘ (C) Csrume &megeanr CarsGe
(D) erermud Fmi

63. In 1876, the Indian Association was founded by
(A) Madan Mohan Malaviya
(B).  Tej Bahadur Sapru
Surendranath Banerjee
(D) Woomesh Chandra Bannerjee .

1876 —ay> ayir® @ srhspong Hpeusat
(A)  -wsen Corser wreareflwm '
B)  Gzg usgit sl
(O)  sCyndlgprs umenrad)
(D) 2 Cuwey sndy umeanmgl

CUGS/19 - 24



64. Subash Chandra Bose founded the Forward Bloc in the year

(A) 1938 g 1939

() 1940 : D) 1941

surey ehdly Curay WpHCUNEE sLSeaw AT mdlw e

(A) 1938 (B) 1939
(C) 1940 ‘ (D) 1941
65. Which one of the following dates was celebra.ted by jinnah as a “Day of deliverance’ from the

rule of congress?

(A) November 1, 1939
December 22, 1939

(C)  October 17, 1940

(D) December 2, 1940°

srmidlren %Lﬁuﬁlcﬂ@ﬁ@ el (Hs@e QuOD BeTTs SPHTEILD 6ThHS HTenaT gilevmen ol &rewL i G ?
(A)  peubuil, 1939
® &buT 22,1939
(C)  =&CGumurl?,1940
(D) gebur?, 1940

66. State Information Commission was created by
) - Right to Information Act, 2005 :
(B) Information Technology Act, 2000

(C)  Whistle Blowers Protection Act, 2011
(D) Sashastra Seema Bal Act, 2007

WIHlos 66D HMBTUSMS 2 (Heursslug

(A) saeua 2 flennd &L b, 2005

B) sseue Qgmpleomug s Lib, 2000

(C)  ssad QeuelistsramiGeunt LUTGSTULEF LD, 2011

(D) snenevgym Fom ume L, 2007

e | 25 CUGS/19
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67.

68.

Which one of the following state is not a having bicameral legislature?

\M Madhya pradesh

(B) Uttar pradesh
(C) - Bihar

(D) Karnataka

Epsa@mLsupdled FTHEE F.Linamb g wrblaw erg?
A)  wsdw GrCsewn
(B) 25485 QyCzsb

©C) Samr

| D) saprsT

Comptroller and Auditor General Retirement Age is .

(A) 60
B) 62
o
(D) 170

sam&@ WHOID seaflsms sidarflufen el ey Qumb euwg

(A) 60
B) 62
(C) 65
D) | 70

CUGS/19 26



69.

Which part of the Constitution deals with official languages?

©

Part XVII (B)
Part XVI : 1))

Part XIV
Part IV-A

arflwamnlinde ans UGS < & Qurd unbd efeuflsEdng ?

(A)
(©)

u@d XVII B)
uEs XVI (D)

The PESA act was enacted in the year

(A)

2015 (B)

Jif 1996 (D)

Sem L1 6THS eu(HLLD @uHmuulLg?

(A)
(€)

2015 (B)
1996 (D)

uESH XIV
uEd IV-A

2016
2018

2016
2018

Which of the following are not the concerns of the UPSC?

Classification of services

Promotion

Training

Disciplinary matters

Talent hunting

2,4and 5 B)

\9/ 1and 3 D)

SpaarL germ waHw Leflwurert Csieuramamugdear Lanfl i

SR W e

(A)
©)

uewtl euensLliu(HSSHen

uenil 2_wifey

b i

R(PTEI(S BL6UIg &S

Smandlbse

2, 4 wHmid 5 . (B)
1 wpmio 3 | (D)

27

1,3and 4
1 and 4

1, 3 whmwb 4

1 wpmib 4

CuUGS/19
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72, Difference betWeeﬁ RNA and DNA is that of
(A)  Phosphate and sugar ‘
(B) Phosphate and Nitrogenous base

Nucleoside and nucleotide

\V Sugar and nitrogenous base

<ZHIT.GTEH.6] LDHMILD 1g.. 6T T -HGLD Gent udled 2_emer Caumuir® eraiLig,
A urevCul wHm eTsaamruld 2 _Gmeng

(B) urevGuL whmib enpLpredlanev Guav-ed o _Geng

©)  PusaiGuras® wpmb HwselGuram iy o drerg

(D) aréser wHmbd @bl Fraanme Guev-a o _GTems)

73; How the Dracunculiasis disease transmlssmn takes place?

M Consumption of water containing cyclops
(B) Inhalation of polluted air

(C)  Consumption of snail

(D) Consumption of contaminated foc;d

rr@en@eflumdlen Crmi LTe 56 ereueumm Em;@u@]éﬂmg?
(A)  evsderTlich o_drer savateny o Csnareugme

B) wrssrHhenm Heu né]uug;néh

(C) psmsmw 2 Qsrereugmd

(D) Qs o ewre)’s Qummener o | QanamEneugme

74. Similipal is

(A) Sanctuary \{ Biosphere reserve
(C)  National park 7 Zoo

FlbedlLimed 6TeuLIg;) eTermen?
(A)  sgewrmeowid B) 2w siBHEE eueTd

©  Csflwyman D) O@ssr & stana
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: ;(5. ' What will happen when hydrazine solution is added to copper iI sulphate solution?
(A) A copper mirror is;, produced |
M A copper mirror is produced aﬁd the blue colour fades
(C) A copper mirror is produced and green colour appears

(D)  Colour changes from blue to green

sruu Il sCul sarsaLan ewanl_réen sanpsene Carded Curg Cararmid wrHmid @n@?
(A)  ariun s Cgmenmd

B) srau RS Camemmeug)L e Hev ﬁm@ LDMI LD

(C)  srOLT g Careandl LFms Bl San e 2 (Heur@L

(D)  sanygalen Hlmb Bavgdled mbs) UEDEWTS LDUQJLb

76. Which alloy of Aluminum is used in boat machinery?
(A) Maghalium
M Duralﬁmin
) Nickeioy

(D)  Alnico

é{@ﬂ@ﬂmgﬁﬁh s 2 Canss 83606‘0’)-6‘_1 U@ ethdlrsdled LweruRdmg?
(A)  wéamaneiuib .

(B} | g eyl Wl aor

(C) ﬁéaeuﬁug

D) svalsCsr

B 29 ‘ CUGS/19
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.|

The sum of the digits of a two digit number is 15 and the difference between the digits is 3.
‘What 1s the two digit number?

A) 69 ; (By 78 .
(C) 96 | MCannot be determined

B Qoss cramenflen Gasshiseflen smpsd 15, seuplar eSgdwumend 3 erafle) sibs ereim wre)?
A) 69 B (B) 78
() 96 : (D)  sment Guevrg

S varies directly as R varies and T varies inversely as R varies. At a time R = 20, S =40 and
T =10. If R is changed to 10, then the value of T will be

. 1
M 20 e (B) o
() 40 (D) 80

S-an wrhowrerg Rer wrhmsdine Cor wenpwrsen, T-er wrpmwreng R-ar wrhnsdibe erdm
weppuITEayb 2 érerg). g swwib R = 20, S = 40, T = 10 eremp wéluysear Gumsngl. R-ar wdliy

- 10 erenm sienwufib Cumgy T-e iy erananeuns: @)(moE

1
(A 20 B
(C) 40 (D) 80

. 1
How many %’s are there in 37;?

wﬂ(fsm

B) 400
©) 500
(D) 200

1 1
37; eranm el Yenangdled ereueemey i erem. lGleamd o emerg)?

-

(A) 300
(B) 400
(C) 500

(D) 200

CUGS/19 PR 30 B



80.

81.

- 82.

83.

Which one of the following shows the highest percentage?

(A)

(©)

384
540
570
700

Getrau (meuaTeu DMIET 6T 2 WITHE FSEISD?

(A)

©

384
540
570
700

HCF of 2% x3% x5, 22x3% x5

(A)
©)

30
48

2

and 2 x3x5%x7 is

(D)

(B)

(D)

D)

425
500
480
660

425
500
480
660 .

60
105

2858%55. 22%3%x5° wHmib 2 x3x 5‘;3 xT fw aramaensarer B5.Gum e (HCF) erenen?

(A)
(&)

A is B’s brother. C is B’s daughter. D is C’s daughter. A is

v’

(©)

30
48

Grandfather
Son

B)
(D)

B)
D)

60

105

Grandmother

Daughter

of D.

A eramueur B-ulér eGangyar. C erenueut B-uler weaer. D eremueui C-ullen waer erafléy A eremueurt

D-uSiebr
(A)
(€)

BTSST

LD & et

(B)

D)

UMy

D&ET

Which of the following figures has the abscissa of points on mid values of the class
intervals?

(A)
(©)

Spsramilb  eumruLREIseld  eaes  pws@sTomee; Udelsmer  eu@ly  @erl Geuaflufien

Histogram ,

Frequency curve

(B)

Frequency polygon

W (B) and (C) both

enwiliLjaretisenmad O & met (R ereren?

(A)
(©)

BlapGEeuenr Gacicusnd

BlabCleuanT euaneTeanT

(B)
D)

31

BlapGEeusnr LeGamemid

(B) wpgd (C) @ram®id

CUGS/19
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84. If 0.75:x::5:8 . Then x 18 equal to
(A) 1.12 ‘ 1.20
©)  1.25 D)  1.30

0.75:x::5:8 erafled x-6o7 &Ly smeg.

A)  1.12 : B) 1.20
(C) 1.25 . (D) 1.30
85, The sum and product of two numbers are 12 and 35 resply. What is the sum of their

reciprocals?
13 : 12
o L ~ o 2
35 ' 35

14 ' 15

(D)

G -
) 35 34

Qyetr(h aremadr sl QOgrens 12 QumsgLsras 35 aafld. oisamiwu  gsmap araimseflen
Fal_HOgrens creve? ' '

13 12
A By a2
&) 35 ' | & 35
14 5
G Dy ==
o 35 @) a4

86. The least perfect square number which is divisible by 3. 4,5, 6 and 8 is
(A) 900 | '
(B)y 1200
(C) 2500

W 3600

3, 4,5, 6 womib 8 erenn eraTaEamen 6u@sE0h WaFS Hlw (P(LLEUTES 6TemT

(A) 900

(B) 1200
(C) 2500
(D) 3600
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37, The volume of the cube is 729 ecm?® What is the length of the diagonal

(A) 9V2 em
7 93 cm
(€) 18 cm
(D) 183 cm

@ san sgTHSen san arey 129 As.8 erafler Sigen epaaei L b Gf@iJ@@Teq
@) 92 Qsif

(B) 93 Q&8

(©) 18 @&,L;S

D) 18V3 Q&8

(893 + 786)" —(893 —786) |

88.  Simplify (893 x786)

B) 5
€ 6
D) 3
&@%(‘% (893 + 786?2 (893 —786)’

(893 x786)
A 4
® 5
© 6
D) 3
B | 33 | CUGSle

[Turn over



89. Which Delh.i Sultan is called as ‘A slave of a slave’?

(A) Balban
(B)  Kuth-ud-din Aibak
(C) Raziya

‘S1g UG BilgenD’ eremepp&a&ILL L GlL_cell sedgmen wirt? '
Y irdis '

B)  @suban s

©) radlwr

D) @ocpiley

90. The foundation for the Vijayanagar city and Kingdom was laid by
(A) Deva Raya '
(B) Mallikarjuna
(C) _ Narasimha
Harihara and Bukka

- muUBST BETD LHMD ras Blmeu @iy Camedwiaisdr
(A) Cxeurmum
(B)  wvadsrimDant
©  préisgor

D) anfapri wHp yssh

91. Who laid the real foundation of Portuguese power in India?
(A) Vascodagama ‘ \M Albuquerque

(C) Thomas Roe (D) Colbert
@pdluineiler CumiEs&EAWT 9 FéE 2 armenouller SiigSSETD HDOSSET WITT?
(A) eumeGasrL_sminm ' | (B) @{s{)qa;fréa@')

(C)  smwev @Un' (D) smeourl

CUGS/19 ' 34



92.  The daily range and temperatux;e of surface water of the ocean is

(A 4°C
1

(©) 3°C

D) 5°C

sL e GHLTLLITETE L Weigw sLedler Gupugiy Gumib Hersfl symefl deuliu eigb ereren?

(A)  4°C
(B) 1°C
€) 3°C

(D) 5°C

93. Which is the following is the marine deposits?

Sands

Salts -

Ocean materials
- Clay and Mud

All of these
(A) 1&2only ‘
B) 2 &3only
(C) 3only

BV

U o

&G Qar@ssiiul_Hearereupbled cTeneu SHLedlg QLq_mash G
LDEBITED

.2 Ly &er

1

2

3. &L GummLseT

4. seflweir wpmb Gam
5. Gupammiu enearsHibd
(A)  1bpmb 2wl G
(B) 2wopmn 3 wLHD
(C)  3Jwplipw

D) 5

B | - 35 e CUGS/19
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94, The Minimum Wages Act was passed in the year

A 1947
@f 1948
(C) 1949
(D) 1950

GHODHESLL & ﬁ@ﬂégLLLb &@@a;‘mu@g,guul'_l_ <2, (h)

(A) 1947
(B) 1948 !
(©) 1949
(D) 1950
95.  Which one of the following is an indirect tax?
(A)  Wealth tax | B Expenditire tix

MService tax ' e - (D) Income tax

e heuaeuHIIGT 678 LenDAPS cuifl?
- (A Qengg eufl ‘ e (B) Qeeayeu
(C) " Geeneu s t (D) sumoman cufl ‘

96. The Gross Domestic Product per capita of Tamil Nadu in the year 20 15-16 18

(A)  Rs. 99,482 - : Rs. 1,43,547

(C)  Rs. 2.40,320 (D) Rs. 1,20,245

12015-16 DpLD D& & SLOD BTl g6 g;eulrreﬁg; Qurés 2 T 2 DS e D GHLD.
(A em. 99,482 | . (B) - em. 1,43,547 |

(©) e 240,320 . (D) @ 1,20,245
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97.  The growth of pollen tubes down the style is due to
-(A)  Hydrotropism (B) Traumatotropism
(C)  Thymotropism ' \M Chemotropism

LETHS GLOML euETTFSILEL G (6 Samiqener CHTES 6uHeISDHE

(A Brmrliih (B) e ea@ndmanie) Qussd
(©C) udmBILL QuissD D) GCeud (IBWLL.Lb
98. Flavonoids mostly accu-mulate n
(A)  Chloroplast ' (B) Chromoplast
\V Vacuole ' (D) Cytosol

SeflammeuanmiRaer Qurgieurs Sram® sramiuboug Gl
A  @CemGymiermen : (B)  CrrCwmermevi
(C)  cursECwre ' (D)  Sevimed

99. Which one of the following is not a problem in estimating the National Income of India?
(A)  Double counting A (B) Unreliable data _
(C)  Unaccounted income : M Presence of large number of enterprises

G ereumeuaeupmieT @bdwreier Caflw aumwraibang olerel Heudle Hase sians e 6rg?
(A) Bmupeann semsdlHsa (B) pousssrs Learell efleurmnisen

(C)  sewsdled ML LILLTG u(HEUML (D)  <=fs aanaflsmaudaner Blneemhiger

100. Capital formation of a country depends on

M Savings _ (B) - Marginal propensing to consume
(C)  Standard of living of the people (D) Income of the people

(M BITLIG.60T (POSGE A EHLD GTENSE FTTHEIETETE)?
(A) Gaulliy ' (B) @néblme msiey HrlL (b

(&) Wéseien uUmp&EES Hlenay (D) wasaflen GU(ThEU Tl

B 37 CUGS/19
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